Appendix A-1

Table RS1 - Water Rate Survey for Surrounding Small Communities and Private Water Companies

City	Meter Charge	Units Used	Commodity Rate	Commodity Cost	Total Bill
Sierra Madre Current Rate (5/8" & 3/4" Meter)	\$40.00	38	\$1.79	\$68.02	\$108.02
Sierra Madre Current Rate (1" Meter)	\$46.68	38	\$1.79	\$68.02	\$114.70
Sierra Madre Option 3A Proposed Rate (5/8" & 3/4" Meter)	\$43.02	38	1-35 Tier 1 @ \$1.92 36-66 Tier 2 @ \$1.97 67+ Tier 3 @ \$2.00	\$73.11	\$116.13
Sierra Madre Option 3A Proposed Rate (1" meter)	\$50.20	38	1-35 Tier 1 @ \$1.92 36-66 Tier 2 @ \$1.97 67+ Tier 3 @ \$2.00	\$73.11	\$123.31
Sierra Madre May 11 Proposed Rate (5/8" & 3/4" Meter)	\$46.03	38	1-35 Tier 1 @ \$2.072 36-66 Tier 2 @ \$2.126 67+ Tier 3 @ \$2.148	\$78.90	\$124.93
Sierra Madre May 11 Proposed Rate (1" meter)	\$54.03	38	1-35 Tier 1 @ \$2.072 36-66 Tier 2 @ \$2.126 67+ Tier 3 @ \$2.148	\$78.90	\$132.93
Duarte (CAW Co.) Residential – Winter 5/8" meter	\$6.44	38	1-13 Tier 1 @ \$2.5737 14-33 Tier 2 @ \$2.7023 34+ Tier 3 @ \$2.8310	\$101.66	\$108.10
Duarte (CAW Co.) Commercial – Winter 5/8" meter	\$6.44	38	\$2.59	\$98.42	\$104.86
Duarte (CAW Co.) Residential – Winter ¾" meter	\$9.66	38	1-13 Tier 1 @ \$2.5737 14-33 Tier 2 @ \$2.7023 34+ Tier 3 @ \$2.8310	\$101.66	\$111.32

Duarte (CAW Co.) Commercial –	\$9.66	38	\$2.59	\$98.42	\$108.08
Winter ¾" meter Duarte (CAW Co.) Residential – Winter 1" meter	\$16.10	38	1-13 Tier 1 @ \$2.5737 14-33 Tier 2 @ \$2.7023 34+ Tier 3 @ \$2.8310	\$101.66	\$117.77
Duarte (CAW Co.) Commercial – Winter 1" meter	\$16.10	38	\$2.59	\$98.42	\$114.52
South Pasadena	\$51.00	38	\$1.06	\$40.28	\$91.28
San Marino (CAW Co.) Residential – Winter 5/8" meter	\$6.44	38	1-13 Tier 1 @ \$2.5737 14-33 Tier 2 @ \$2.7023 34+ Tier 3 @ \$2.8310	\$101.67	\$108.11
San Marino (CAW Co.) Commercial – Winter 5/8" meter	\$6.44	38	\$2.59	\$98.42	\$104.86
San Marino (CAW Co.) Residential – Winter ¾" meter	\$9.66	38	1-13 Tier 1 @ \$2.5737 14-33 Tier 2 @ \$2.7023 34+ Tier 3 @ \$2.8310	\$101.67	\$111.33
San Marino (CAW Co.) Commercial – Winter ¾" meter	\$9.66	38	\$2.59	\$98.42	\$108.08
San Marino (CAW Co.) Residential – Winter 1" meter	\$16.10	38	1-13 Tier 1 @ \$2.5737 14-33 Tier 2 @ \$2.7023 34+ Tier 3 @ \$2.8310	\$101.67	\$117.77
San Marino (CAW Co.) Commercial – Winter 1" meter	\$16.10	38	\$2.59	\$98.42	\$114.52
Bradbury (CAW Co.) Residential – Winter 5/8" meter	\$6.44	38	1-13 Tier 1 @ \$2.5737 14-33 Tier 2 @ \$2.7023 34+ Tier 3 @ \$2.8310	\$101.66	\$108.10

Bradbury (CAW Co.) Commercial – Winter 5/8" meter	\$6.44	38	\$2.59	\$98.42	\$104.86
Bradbury (CAW Co.) Residential – Winter ¾" meter	\$9.66	38	1-13 Tier 1 @ \$2.5737 14-33 Tier 2 @ \$2.7023 34+ Tier 3 @ \$2.8310	\$101.66	\$111.32
Bradbury (CAW Co.) Commercial – Winter ¾" meter	\$9.66	38	\$2.59	\$98.42	\$108.08
Bradbury (CAW Co.) Residential – Winter 1" meter	\$16.10	38	1-13 Tier 1 @ \$2.5737 14-33 Tier 2 @ \$2.7023 34+ Tier 3 @ \$2.8310	\$101.66	\$117.77
Bradbury (CAW Co.) Commercial – Winter 1" meter	\$16.10	38	\$2.59	\$98.42	\$114.52
Cresenta Valley Water District* (5/8 & 3/4" meters)	\$24.88	38	1-10 Tier 1 @ \$3.60 11-33 Tier 2 @ \$4.18 34-60 Tier 3 @ \$5.18 61+ Tier 4 @ \$6.68	\$158.04	\$182.92
Cresenta Valley Water District* (1" meters)	\$30.60	38	1-10 Tier 1 @ \$3.60 11-33 Tier 2 @ \$4.18 34-60 Tier 3 @ \$5.18 61+ Tier 4 @ \$6.68	\$158.04	\$188.64
La Canada Irrigation District* (5/8 & 3/4" meters)	\$40.00	38	1-100 Tier 1 @ \$2.46 101-150 Tier 2 @ \$2.65 151-200 Tier 3 @ \$2.92 201-250 Tier 4 @ \$3.22 251+ Tier 5 @ \$3.54	\$93.48	\$133.48
La Canada Irrigation District* (1" meters)	\$46.00	38	1-100 Tier 1 @ \$2.46 101-150 Tier 2 @ \$2.65 151-200 Tier 3 @ \$2.92 201-250 Tier 4 @ \$3.22 251+ Tier 5 @ \$3.54	\$93.48	\$139.48
Kinneloa Irrigation District*	\$98.00	38	\$2.75	\$104.50	\$202.50
Rubio Canon Land & Water	\$46.00	38	1-20 Tier 1 @ \$2.10 21+ Tier 2 @ \$2.35	\$84.30	\$130.30

Association* (5/8 & 3/4" meters)						
Rubio Canon Land & Water Association* (1" meters)	\$52.00	38	1-20 21+	Tier 1 @ \$2.10 Tier 2 @ \$2.35	\$84.30	\$136.30

^{*} La Canada Flintridge, La Cresenta, Altadena, and portions of other foothill communities are served by a combination of Foothill Municipal Water District sub districts.

Appendix A-2

Table RS2 - Water Rate Survey for Surrounding Large Cities

City	Meter Charge	Units Used	Commodity Rate	Commodity Cost	Total Bill
Sierra Madre Current Rate (5/8" & 3/4" Meter)	\$40.00	38	\$1.79	\$68.02	\$108.02
Sierra Madre Current Rate (1" Meter)	\$46.68	38	\$1.79	\$68.02	\$114.70
Sierra Madre Option 3A Proposed Rate (5/8" & 3/4" Meter)	\$43.02	38	1-35 Tier 1 @ \$1.92 36-66 Tier 2 @ \$1.97 67+ Tier 3 @ \$2.00	\$73.11	\$116.13
Sierra Madre Option 3A Proposed Rate (1" meter)	\$50.20	38	1-35 Tier 1 @ \$1.92 36-66 Tier 2 @ \$1.97 67+ Tier 3 @ \$2.00	\$73.11	\$123.31
Sierra Madre May 11 Proposed Rate (5/8" & 3/4" Meter)	\$46.03	38	1-35 Tier 1 @ \$2.072 \$78.90 36-66 Tier 2 @ \$2.126 67+ Tier 3 @ \$2.148		\$124.93
Sierra Madre May 11 Proposed Rate (1" meter)	\$54.03	38	1-35 Tier 1 @ \$2.072 \$78 36-66 Tier 2 @ \$2.126 67+ Tier 3 @ \$2.148		\$132.93
Pasadena (Winter Rate, Inside City)	\$14.06	38	1-8 Block 1 @ \$0.9788 9-24 Block 2 @ \$2.5255 25-34 Block 3 @ \$3.0117 35+ Block 4 @ \$3.7408	59 71	\$107.38
Pasadena (Winter Rate, Outside City)	\$17.48	38	1-8 Block 1 @ \$1.31981 \$120.31 9-24 Block 2 @ \$3.25323 25-34 Block 3 @ \$3.86088 35+ Block 4 @ \$4.77236		\$137.79
Arcadia (Inside City) 5/8" meter	\$10.95	38	\$1.33	\$50.54	\$61.49

Arcadia (Outside City/Commercial) 5/8" meter	\$16.43	38	\$1.97	\$74.86	\$91.29
Arcadia (Inside City) 3/4" meter	\$12.32	38	\$1.33	\$50.54	\$62.86
Arcadia (Outside City/Commercial) 3/4" meter	\$18.48	38	\$1.97	\$74.86	\$93.34
Arcadia (Inside City) 1" meter	\$13.69	38	\$1.33	\$50.54	\$64.23
Arcadia (Outside City/Commercial) 1" meter	\$20.53	38	\$1.97	\$74.86	\$95.39
Monrovia (5/8 & ³ ⁄ ₄ " meter)	\$7.88	38	\$1.45	\$55.10	\$62.98
Monrovia (1" meter)	11.85	38	\$1.45	\$55.10	\$66.95
South Pasadena	\$51.00	38	\$1.06	\$40.28	\$91.28
Alhambra Current (5/8" meter)	\$17.53	38	1-12 Tier 1 @ \$2.04 13-20 Tier 2 @ \$2.17 21+ Tier 3 @ \$2.23	\$81.98	\$99.51
Alhambra Current (1" meter)	\$35.03	38	1-12 Tier 1 @ \$2.04 13-20 Tier 2 @ \$2.17 21+ Tier 3 @ \$2.25	\$81.98	\$117.01
Alhambra Approved increase 12/13 (5/8" meter)	\$23.34	38	1-12 Tier 1 @ \$2.72 13-20 Tier 2 @ \$2.88 21+ Tier 3 @ \$2.96	\$108.96	\$132.30
Alhambra Approved increase 2012- 2013 (1" meter)	\$46.62	38	1-12 Tier 1 @ \$2.72 13-20 Tier 2 @ \$2.88 21+ Tier 3 @ \$2.96	\$108.96	\$155.58
Azusa (5/8" & 3/4" meter)	\$17.03	38	1-12 Tier 1 @ \$1.007 13+ Tier 2 @ \$1.953	\$62.86	\$79.89
Azusa (1" meter)	\$24.26	38	1-12 Tier 1 @ \$1.007 13+ Tier 2 @ \$1.953	\$62.86	\$87.12
Azusa (5/8" & ¾" meter) Emergency	\$17.03	38	1-12 Tier 1 @ \$1.007 13-36 Tier 2 @ \$2.129 36+ Tier 3 @ 3.031	\$69.24	\$86.27

Conservation Rate					
Azusa (1" meter) Emergency Conservation Rate	\$24.26	38	1-12 Tier 1 @ \$1.007 13-36 Tier 2 @ \$2.129 36+ Tier 3 @ 3.031	\$69.24	\$93.50
Monterey Park 5/8" or 3/4")	\$12.63	38	6-20 Tier 1 @ \$1.38 (1 st 6 ccf free) 21+ Tier 2 @ \$1.81	\$51.90	\$64.59
Monterey Park (1" meter)	\$13.67	38	1-20 Tier 1 @ \$1.38 21+ Tier 2 @ \$1.81	\$60.18	\$73.85
Glendora (5/8 th or ³ / ₄ " meter)	\$56.73	38	Tier 1, Zone 1 @ \$1.50 Tier 2, Zone 1 @ \$1.95	\$57.00	\$113.73
			Tier 1, Zone 2 @ \$1.61 Tier 2, Zone 2 @ \$2.06	\$61.18	\$117.91
			Tier 1, Zone 3 @ \$1.73 Tier 2, Zone 3 @ \$2.18	\$65.74	\$122.47
			Tier 1, Zone 4 @ \$2.39 Tier 2, Zone 4 @ \$2.84	\$90.82	\$147.55
Glendora (1" meter)	\$73.75	38	Tier 1, Zone 1 @ \$1.50 Tier 2, Zone 1 @ \$1.95	\$57.00	\$130.75
			Tier 1, Zone 2 @ \$1.61 Tier 2, Zone 2 @ \$2.06	\$61.18	\$134.93
			Tier 1, Zone 3 @ \$1.73 Tier 2, Zone 3 @ \$2.18	\$65.74	\$139.49
			Tier 1, Zone 4 @ \$2.39 Tier 2, Zone 4 @ \$2.84	\$90.82	\$164.57
Covina Current Single Family (5/8" and 3/4" Meter)	\$28.48	38	1-16 Tier 1 @ \$2.25 17+ Tier 2 @ \$2.51	\$91.22	\$119.70
Covina Current Single Family (1" Meter)	\$41.94	38	1-16 Tier 1 @ \$2.25 17+ Tier 2 @ \$2.51	\$91.22	\$133.16
Covina Current Multi-Family (5/8" and 3/4" Meter)	\$28.48	38	1-12 Tier 1 @ \$2.25 13+ Tier 2 @ \$2.46	\$90.96	\$119.44
Covina Current Multi Family (1" Meter)	\$41.94	38	1-16 Tier 1 @ \$2.25 17+ Tier 2 @ \$2.46	\$90.96	\$132.90
Covina Current Commercial (5/8" and 3/4" Meter)	\$28.48	38	\$2.62	\$99.56	\$128.04
Covina Current	\$41.94	38	\$2.62	\$99.56	\$141.50

Commercial (1"						
Meter)						
Covina Approved 2015 Rates Single Family (5/8" and 3/4" Meter)	\$33.24	38	1-16 Tier 1 @ \$2.71 17+ Tier 2 @ \$3.02	\$109.80	\$143.04	
Covina	\$49.44	38	1-16 Tier 1 @ \$2.71	\$109.80	\$159.24	
Approved 2015 Rates Single Family (1" Meter)	φ49.44	30	17+ Tier 2 @ \$3.02	\$109.80		
Covina Approved 2015 Rates Multi- Family (5/8" and 3/4" Meter)	\$33.24	38	1-12 Tier 1 @ \$2.71 13+ Tier 2 @ \$2.96	\$109.48	\$142.72	
Covina Approved 2015 Rates Multi Family (1" Meter)	\$49.44	38	1-16 Tier 1 @ \$2.71 17+ Tier 2 @ \$2.96	\$109.48	\$158.92	
Covina Approved 2015 Rates Commercial (5/8" and 3/4" Meter)	\$33.24	38	\$3.16	\$120.08	\$153.32	
Covina Approved 2015 Rates Commercial (1" Meter)	\$49.44	38	\$3.16	\$120.08	\$169.52	
La Verne	\$28.60	28.42	Zone 1 @\$2.69/133cf Zone 2 @\$2.79/133cf Zone 3 @\$2.98/133cf Zone 4 @\$3.19/133cf Zone 5 @\$3.30/133cf Zone 6 @\$3.54/133cf	\$76.45 \$79.29 \$84.69 \$90.66 \$93.78 \$100.61	\$105.05 \$107.89 \$113.29 \$119.26 \$122.39 \$129.21	
West Covina (Suburban Water Co. portion)	\$13.92	38	Tariff Area 1 @ \$1.5390 Tariff Area 2 @ \$1.6030 Tariff Area 3 @ \$1.6700	\$58.48 \$60.91 \$63.46	\$72.40 \$74.83 \$77.38	
San Gabriel County Water District.	\$29.62*	38	1-30 Tier 1 @ \$1.65 31+ Tier 2 @ \$1.75	\$63.50	\$93.12	
*Includes Meter charge, Reservoir Fee, and City User Fee						